

KARNATAK UNIVERSITY, DHARWAD PEÁÖI PÁ«±k«ZÁB®AIÁ, ZÁGPÁQÁ

Examination G.A.D. Section ¥ J ĀPĀĒ Ā Ā ĀĀĒĀ DQĒVĀ « ĀUĀ "NAAC Accredited with "A" Grade 2014"

Pavate Nagar, Dharwad ¥ÁªMÉNAÀ ZÁGÀ ÁQÀ

Fax No. 0837-2741928 Tel Ph No. 0836-2215269 Website: www.kud.ac.in

Date: 06-09-2016

No.KUD/Exam/GAD/2016-17/637

NOTIFICATION

Sub: I, III & V Semester examinations for all U.G. Courses.

Examinations of all U.G. Semester/Non semester Courses will commence in the month of November/December, 2016. The detailed time table will be intimated later & displayed on the University Website i.e., www.kud.ac.in (Notification Folder).

The Principals of Constituent & Affiliated colleges of the University are requested adhere to the time schedule specified below for filling **online** examination forms and submitting hard copies along with fees paid challan to the Examination Section.

- I. The last date for the students to submit hard copy of the application form without penal fee to the college 21/09/2016. (Colleges should submit the application by online process immediately/on the same day).
- 2. The last date for the colleges to submit hard copies of the uploaded **online** application forms and list collected without penal fee along with challan to the Examination Section on or before 26/09/2016.
- 3. The last date for the students to submit hard copy of the application form with `150/- penal fee to the college 27/09/2016. (Colleges should submit the application by online process immediately/on the same day).
- 4. The last date for the colleges to submit hard copies of the uploaded **online** application forms and list collected with penal fee along with challan to the Examination Section on or before **29/09/2016**.

ALL U.G. SEMESTER/NON-SEMESTER COURSES EXAMINATION FEES

Sl. No.	Particulars						
01	Examination Application form Processing Fees (Per Semester)						
02	Statement of Marks Cards						
03	Passing Certificate Fees (Final Semester/Final Non-Semester Only)						
04	Project and Viva Voce / Field Work Report Valuation Fees. BSW-V Sem./BBA/ BCA/ BCom(CS)/ BBA(H&T) - Vth Sem. & BSc(CS)-VIth Sem.	440=00					
05	Examination Fees: BA/ BSc/ BCom- I,III&V Semester - 1 Paper ` 200-, 2 Papers ` 400/-, 3 Papers ` 600/-, 4 & Above/Each Sem.` 650/-	650=00					
	Examination Fees: B. Music Part-I, II, III - 1 Paper ` 225/-, 2 Papers ` 450/-, 3 Papers ` 675/-, 4 & Above/Each Part ` 705/- Examination Fees: Three Year LLB –I to VI Semester - Five Year BALLB–I to X Semester -	705=00					
	1 Paper ` 230/-, 2 Papers ` 460/-, 3 Papers ` 690/-, 4 & Above/Each Sem. ` 745/-	745=00					

Sl. No.	Particulars						
	Examination Fees: BSW - I, III & V Semester - 1 Paper ` 210/-, 2 Papers ` 420/-, 3 Papers ` 630/-, 4 & Above/Each Sem.` 800/-						
	Examination Fees: BBA/BCA/BCom(CS)/BSc(CS)/BTA/BASLP - I, III & V Semester - 1 Paper ` 245/-, 2 Papers ` 490/-, 3 Papers ` 735/-, 4 & Above/Each Sem.` 860/-	860=00					
	Examination Fees: B.F.A. I to V Year (Foundation) – 1 Paper ` 270/-, 2 Papers ` 540/-, 3 Papers ` 810/-, 4 & Above/Per Year ` 1005/-	1005=00					
	Examination Fees: BBA (Hotel & Tourism) - I, III & V Semester - 1 Paper ` 280/-, 2 Papers ` 560/-, 3 Papers ` 840/-, 4 & Above/Each Sem. ` 1165/-						
	Examination Fees: BPEd (Old) - I & II Semester & 2 Year BPEd I, III & V Semester 1 Paper ` 320/-, 2 Papers ` 640/-, 3 Papers ` 960/-, 4 & Above/Each Sem.` 1,470/-	1470=00					
06	6 Improvement of Performance : Under Graduate Level (UG):						
	a) For the 1 st Time: (a) 1 Paper ` 455/- (b) 2 Papers ` 910/- (c) 3 Papers ` 1365/- (d) 4 & Above ` 1610/-	1610=00					
	b) For the 2 nd Time: (a) 1 Paper `640/- (b) 2 Papers `1280/- (c) 3 & Above `1770/-	1770=00					
	c) For the 3 rd Time: (a) 1 Paper `885/- (b) 2 Papers `1770/- (c) 3 & Above `2255/-	2255=00					
07	Penalty/Fine Fees	150=00					

SPECIAL INSTRUCTION

- 1) ¸bpAgizh C¢ñ£h PÁAiNÖziPō, G£NN ²Pht E¯ÁSÉ («±k×zÁð®AiN-2), PÆÁŌI Ph ¸bpAgizh ¸haªÁ®AiN, S°NªN°h Ph bh Eªbh ¥nh £m.Er 13 AiNAPÚ¸ï 2014 ¢£ÁAPh 16.01.2015giPè J®è ¥izk PÆÃ¸iDUMÆNB ¥NÆTŌUƽ,NªÀ UŊ μh CªNŒNINEÑS PÆÁŌI Ph «±k×zÁð®AiN ¥k¸NWÀ eÁj AiN°gNªÀ ¤AiNªNzÄvÉ (Resolution) "J®è «zÁðyðUMA MAZÄ ªµIDZA CªNŒNIN ¥izkAiN£NB ªNÆgN ªµIDUMÆNNUÁV ªNVNU EVİŊÉ ¥izkUMA «ZÁðyðUMA VIPÄÄ ¥İzkAiNĒNB double the duration of the course£À MYNUÁV ¥NÆTŌUƽ,NPÄ gÁdizÀ J®è «±k×zÁð®AiNUMA PæÑªÀ»¸ÑªÀVÉ ¤zÑð²¹gNvÁŊſÉ" CzŊNvÉ J®è ªN°Á«zÁð®AiNUMA ¥ÁZÁAiNÒgN PæÑdgŇV¸ÑªÀVÉ ªNÁ£À PÑ®¥NVUMA ¢£ÁAPÀ16-02-2015gNPèDZò¹gŇvÁŊſÉ
- 2) PÀX ªÁÁ¦ ÁLÍÁ CÇÃEÀ ºÁUÆ ¸À®UR ªÄºÁ«ZÁÆAAÍÄUÄÀ ¥ÁZÁAÍÄÖJUÉ ¸ÀAAÍÆÃdPJUÉ W½¸ÄªÆÆÉÁZÞÉ J®è1 ªÞÍÐZÀ ¥ÈÀXAÍÄEÄR 3 ªÞIÐZÆYÐÁV ºÁUÆ 3 ªÞIÐZÀ ¥ÈÀXAÍÄEÄR 6 ªÞIÐZÆYÐÁV ¥ÆTÖUƽ¸ÞÄ «ZÁÅYÐUKUÉ W½¸ÄªÄZÄ. CZÐÁVÀ ¥ÆªÐÖZŘ È CEÄWŰTÖUÆAQÀ «ZÁÅYÐUKUÉ ¥JJÃPÁË ¥ÁªÄÐ VÄAS®Ä ªÄVÄÚ ¥JJĀPÍJÉPÄKVÄPÆKÄÞÄ CªŘÁ±À¤ÃQÀ·ÁgÆÁZÄ W½¸ĨTÁVZÉ

INSTRUCTIONS

- 1. The **Online** Examination application forms shall be signed by the Principals of the concerned colleges subject to condition that a student has minimum **75%** of attendance in all subjects actually held in each semester/non-semester of each year.
- 2. In addition to examination fees, each candidate is required to pay `80/- online examination application form processing fees (for each semester) and `120/- towards issue of Statement of marks along with the examination fees. Final Year/Semester candidates (Except Law Students) are required to pay `160/- for issue of passing certificate along with above fees. The Law students may obtain the passing certificate and special certificate after completion of their respective course after remitting the necessary fees.

3. SC/ST/CAT-I students are exempted from paying examination fees. Those who are appearing for examination as Repeaters are also exempted (Circular No.KU/SC/ST CELL/1994-95/Fees, dated: 8/8/1994) & Government Order No. SKE/ 357/ BMS/ 2012/ Bangalore, dtd: 07/11/2012, Govt. Order No.» a E/397/BMS/2013/Bangalore dtd:05/09/2013, Govt. Order No.» A PN/589/BMS/2013 Bangalore dtd:06/08/2014. From the payment of examination fees provided their annual income is up to 2.5 lakh. However, such exempted fees must be claimed from Social Welfare Department, Govt. of Karnataka & shall be remitted to the University at the earliest.

4. Low income group students with income up to `1,00,000/- per year (Govt. Order No.» AE/397/BMS/2013/Bangalore dtd: 05/09/2013, Govt. Order No. »AAPW 589/BMS/2013 Bangalore dtd:06/08/2014.) are exempted from examination fee. However, candidates appearing as repeaters are not exempted from the payment of examination fees. However, such exempted fees must be claimed from Social Welfare Department, Govt. of Karnataka & shall be remitted to the University at the earliest.

i) Yearly Income limit for Cat-I : 2,50,000/ii) Yearly Income limit for 2A, 2B, 3A, 3B : 1,00,000/-

- 5. If the Candidate is dependent of Leprosy (Kushtaroga) patient, necessary certificate shall be submitted as proof of the relation. Candidate dependent of Leprosy (Kushtaroga) patient medical certificate shall be obtained from Primary/Taluka/District Medical Officer and are exempted from paying the examination fees. However, such exempted fees must be claimed from Social Welfare Department, Govt. of Karnataka & shall be remitted to the University at the earliest.
- 6. Keeping in view the online process, strictly no examination applications shall be entertained after the last date fixed by the University.
- 7. Colleges to send the hard copies of the uploaded application forms along with necessary enclosures/ Zerox copy's of Marks cords directly to the concerned *Office Superintendent*, *Vishwachetan Building, Examination Section, Karnatak University, Dharwad 580 003*.

- 8. Requested to all the Principals of the Colleges to inform to the students not to approach exam section directly for filling the **online** exam application forms.
- 9. Colleges and students are directed to avoid the correction while filling **online** application forms. Colleges will be held responsible if any corrections/mistakes occurs.
- 10. Fees once paid will not be refunded.

REGISTRAR (EVALUATION)

Copy to:

- 1. The Principals/Co-ordinator of Constituent & Affiliated Colleges, K.U. Dharwad.
- 2. The Finance Officer, Account Section, Karnatak University, Dharwad.
- 3. The Development Officer, Statistics Scholarship Branches, K.U. Dharwad.
- 4. The Director, SC/ST/CAT-I Cell, K.U. Dharwad.
- 5. The Director, Student Welfare, K.U. Dharwad.
- 6. The Director, IT Section, K.U. Dharwad. (Kindly display it on the University Website)
- 7. The System Analyst Computer Centre, K.U. Dharwad.
- 8. The Dy. Registrar/Asst. Registrar Exam/Accounts/Academic Section K.U. Dharwad.
- 9. All O.S. Examination / Accounts / Academic Section, K.U. Dharwad.
- 10. P.S./P.A. to the Vice-Chancellor/Registrar/Registrar (Evaluation)/ FO, K.U.Dharwad.

PĚÁÐI PÀ «±À ZÁB A IÄ, ZÁG PÁQÀ

¥À ÃPÁË «"ÁUÀ

a Ăº Á « zÁ 🏶 A i Ă z À º É ÞÀ a Ă v Ă Û PÆÃ q ï 🗎 N Số:

PÆÄ¸ðð: ¸É«Ä¸ðÿï: ¤AiĂ«ÄvÀC¤AiĂ«ÄvÀ:

C.	«ª ġ À	«záżyðuìkà ¸ìlsí	D£ï¯ÉEï ¥) Ãpáë C fð ±Å®Ì	CAP i¥i nֱĮÌ	¥Á¸ÁZÀ ¥ æì Át ¥ næ À ±Å®Ì	¥ÉEÉECIPÜPÉPÁ (CEÈPĸÄPÀ PÉEĸÄDUÄSUÍ ±Ä®Ì	¥ j ÃPÁË ±À®Ì	z ň qkà±ľ®ì	MI ÄֱĮÌ	j Ai l Á¬Äw ¤ÃrzÀ¥ j ÃPÁë ±Ä®Ì
1	¸ÁªÌÁ£Ì	00	00 X 80 =	00 X 120 =	00 X 160 =	00 X 440 =	00 X 650= 00 X 600= 00 X 400= 00 X 200=	00 X 150 =		
2	¥ÀeÁ.	00	00 X 80 =	00 X 120 =	00 X 160=	00 X 440 =		00 X 150 =		00 X 000=
3	¥À¥À.	00	00 X 80 =	00 X 120 =	00 X 160 =	00 X 440 =		00 X 150 =		00 X 000 =
4	¥16°1010 - 1	00	00 X 80 =	00 X 120 =	00 X 160 =	00 X 440 =		00 X 150 =		00 X 000 =
5	»AZA½ZA ^a NIO (2A,2B,3A, 3B)	00	00 X 80 =	00 X 120 =	00 X 160 =	00 X 440 =		00 X 150 =		00 X 000 =
	MI ÄÖ	00	00 X 80 =	00 X 120 =	00 X 160 =	00 X 440 =		00 X 150 =		00 X 000 =

1) ¥ÌeÁ./¥Ì¥ÌA./¥ÌeªÌJÍÐ-1/».ªÌJÍÐ-(2A,2B,3A,3B): j AiÌÁ¬ÄW ¤ÃrZÌ MI ÄÖ¥ÌJÃPÁ˱Ì®Ì gÌÆ.:

2) DETÉET AMÆ®PÀVÄA©ZÀZÀ®ET¸ÀSÉ: ¢EÁAPÀ: gÀE.:

n¥lué: 1) ¤Aili«Ävà°ÁUNE C¤Aili«Ävà«ZÁiyðUNA AiliÁ¢ ¥lætáPíPÁV ¸íPè¸liª Leli.

- 2) ¥Ìn ská spith a há »wai há hí ¥Ìn ÁPP ÁV shè à là là.
- 3) ¤Ailı́«Ävlı́/ C¤Ailı́«Ävlı́ (Regular / Repeater)

¥ÁZZÁAiÄðgÀgÄdÄ